

कार्यालय नगर निगम जोधपुर दक्षिण पोलोटेक्निक कॉलेज, रेजीडेन्सी रोड,जोध<u>प</u>ुर ceo_nnj@rediffmail.com"tel 02912651464 fax 2651466

Garia:-09/05/2023

क्रमांकः—न.नि.जो. / दक्षिण / SBM / 2022—23 / 14 0 &

अल्पकालीन निविदा सूचना (यूनिक बिड संख्या DLB2223WSOB31272)

नगर निगम जोधपुर दक्षिण की और से निग्नलिखित कार्यों हेतु भारत सरकार एवं राज्य सरकार के विभिन्न विभागों / स्वायतशाधी / निगमों / बोडों / राजकीय उपक्रमों में पंजीकृत ए.०ए व ए. श्रेणी में पंजीकृत तथा नगर निगम जोधपुर में निर्धारित अेणी में पंजीकृत नियमानुसार योग्य संवेदको से निर्धारित प्रपन्न में मुहरबन्द निविदा आमंत्रित की जाती है। निविदा दिनांक 20/03/2025को 12:30 बजे तक बेची जाकर, दिनांक-20/05/2025को दोपहर 2:00 बजे तक प्राप्त कर 3:00 बजे उपस्थित संवेदको के समक्ष खोली जायेगी। अन्य विवरण एवं शर्ते निविदा प्रपन्न कार्यालय समय में कार्यालय में देखे जा सकते है। www.sppp.rajasthan.gov.in, एवं जोधपुर नगर निगम, दक्षिण की website http://urban.rajasthan.gov.in. /mcjs पर देखी जा सकती है।

क्र. सं.	कार्यका नाम	लागत लाखों में	धरोहर राशि	निविदा शुल्क	कार्य पूर्ण करने की अवधि
1	बच्छराज जी का बाग स्थित सामुदायिक भवन के पास शौचालय ब्लॉक का निर्माण कार्य।	3.43	6,860 / -	500/-	3 माह
2	CONSTRUCTION SUPPLY & FIXING OF ACRYLIC BOARDS AT VARIOUS PLACE IN NAGAR NIGAM JODHPUR SOUTH	3.98	7,960 / -	500/-	2 माह

नोट:–(1) दरे तीन माह तक मान्य होगी। (2) कार्य शुरू करने से पूर्व व कार्य पूर्ण करने के पश्चात् कार्य स्थल की फोटो आवश्यक रूप से प्रस्तुत करे। (3) सशर्त निविदा स्वीकार नहीं होगी। (4) दोष निवारण अवधि नियमानुसार होगा। (5) धरोहर राशि के डिमाण्ड ड्राफ्ट की वैधता निविदा की जा सकती है। (6) आयुक्त नगर निगम जोधपुर के आदेश क्रमांक 9836 दिनांक 7.02.2020 एवं 9975 दिनांक 14.07.2020 अनुसार पंजीयन रिव्यू आदेश के तहत निविदा स्वीकार / अस्वीकार की जायेगी। (7) श्रीमान निदेशक, स्वायत शासन विभाग, राजस्थान जयपुर के आदेश क्रमांक 144612–825 दिनांक 22.11.21 की पालना में वित विभाग की अधिसूचना आर.टी. पी.पी. नियम 2013 में Additional PerformanceSecurity के लिये नियम 75—ए के अनुसार Additional Performance Security जमा करवानी होगी।

पकाश

आयक्त जोधपुर नगर निगम, दक्षिण दिनांक : ए 9 03 2027

(I.A.S)

क्रमांक : 1409 रु 1415 प्रतिलिपि :--

- 1. महापौर महोदया , नगर निगम जोधपुर दक्षिण ।
- 2. निजी सहायक, आयुक्त महोदय, नगर निगम जोधपुर दक्षिण।
- 3. लेखाधिकारी, नगर निगम जोधपुर दक्षिण (संबंधित) ।
- 4. अधिशाषी अभियंता नगर निगम जोधपुर दक्षिण (संबंधित)।
- 5. सहायक अभियंता / कनिष्ठ अभियंता, नगर निगम जोधपुर दक्षिण (संबंधित)।
- 6.श्री रामेश्वर गहलोत, प्रोग्रामर नगर निगम जोधपुर दक्षिण को भेजकर लेख है कि उक्त अल्पकालीन निविदा सचना (1) urban.rajasthan.gov.in/mcjs (2) sppp.rajasthan.gov.in पर अपलोड करे एवं निविदा सूचना जोधपुर क्षेत्रीय समाचार पत्र में प्रकाशन हेतु राजस्थान संवाद जयपुर को मेल के माध्यम से भिजवाये।
- 7 सचना पटट नगर निगम जोधपुर, दक्षिण ।

जोधपुर नगेरे मिंगम, दक्षिण

JODHPUR NAGAR NIGAM JODHPUR SOUTH

G-SCHEDULE

NIT No. 1102 Date Last Date of Sale :- 2.6)2)2.3 Date of Receipt :- 2.612)2-3 Copy issued to M/s

PWD BSR 2018 & SoR RUIDP 2023

NAME OF WORK:- Construction of tollet block near samudayik bhawan

	Qty	Unit	Rate	Amount
Providing and laying in position cement concrete of specified grade excluding the cost of centring and shuttering - All work upto plinth level : 1:4:8 (1 Cement : 4 line/ coarse sand : 8 graded stone aggregate 40 mm nominal size).	1.00	cum	4340.00	4347.05
Random rubble masonry with hard stone in foundation and plinth Cement mortar 1:6 (1 cement : 6 coarse sand)	0.81	cum	4245.00	3438.45
Coursed rubble masonry (second sort) with hard stone in foundation & plinth with Cement mortar 1:6 (1 cement : 6 coarse sand)	15.11	cum	4930.00	74467.65
Extra for coursed rubble masonry with hard stone (first or second sort) in superstructure above plinth level and upto two stories	15.11	cum	890.00	13443.45
Cement plastering including T&P, scaffolding, material and complete labpour, including cost of water, curing, racking of joints etc. with 20 mm cement plaster of mix : 1:4 (1 cement : 4 fine/ coarse sand)	90.92	sqm	283.50	25775.82
P & F Marble Urinal Partition slab both sides polished of approved design cut from marble size 900x600mm. IS 2556 (Part VI Sec.4)- 1995. Makrana 'Adanga'	2.00	each	764.00	1528.00
Providing and fixing 1st quality standard white, grey, ivory, fume red brown, light green, light blue and other light shades glazed tiles confirming to IS : 13753 & IS : 15622 of size 200mm x 300mm in walls, floors, steps, pillars etc. laid on a bed of neat cement slurry finished with flush pointing in the white cement mixed with pigment to match the shade of the tile complete (excluding the cost ofcement plaster on walls and pillar).	89.30	sqm	837.00	74744.10
Providing and fixing 1st quality MAT finished ceremic tile size 300x300mm confirming to IS : 13755 and IS : 15622 colour such as white, grey, ivory, fume red brown, light green, light blue and other light shades in floors, steps, pillars etc. laid on a bed of neat cement slurry finished with flush pointing in the white cement mixed with pigment to match the shade of the tile complete (including the cost of cement mortar bed 1:4).	8.80	sqm	814.00	7163.20
Providing and fixing white vitreous china pedestal type water closet (European type W.C. pan) with seat and lid, 10 litre low level white P.V.C. flushing cistern with manually controlled device (handle lever), conforming to IS : 7231, with all fittings and fixtures complete including cutting and making good the walls and floors wherever required : W.C. pan with ISI marked white solid plastic seat and	1.00	each	4595.00	4595.00
Providing and fixing wash basin with C.I. brackets, 15 mm C.P. brass pillar taps,32 mm C.P. brass waste of standard pattern, including painting of fittings and brackets, cutting and making good the walls wherever require : White Vitreous China Wash basin size 630x450 mm with a pair of 15 mm C.P. brass	2.00	each	2620.00	5240.00
Providing and fixing white vitreous china flat back or wall corner type lipped front urinal basin of 430x260x350mm and 340x410x265mm sizes respectively with automatic flushing cistern with standard flush pipe and C.P. brass spreaders with brass unions and G.I clamps complete, including painting of fittings and brackets, cutting and making good the walls and floors wherever required : One urinal	2.00	each	4505.00	9010.00
Providing and fixing gun metal non- return valve of approved quality (screwed and) 25 mm nominal bore Vertical	3.00	each	705.00	2115.00
stability for hot & cold water opproved in the stability for hot & cold water opproved in the stability of pipes & fittings with one step CPVC solvent fittings. This included jointing of pipes & fittings with one step CPVC solvent fittings. This included jointing of pipes & fittings with one step CPVC solvent fittings. This included jointing of pipes & fittings with one step CPVC solvent fittings.				0.00
Engineer in Charge, External were	15.00	metre	187.00	2805.00
15 mm nominal outer dia . Pipes.	15.00	metre	307.50	4612.50
as mm nominal outer dia . Fipes.				
Providing and placing on terrace (at all more and suitable locking arrangement and tank ISI : 12701 marked with cover and suitable locking arrangement and tank ISI : 12701 marked with cover and suitable locking arrangement and tank ISI : 12701 marked with cover and suitable locking arrangement and tank ISI : 12701 marked with cover and suitable locking arrangement and tank ISI : 12701 marked with cover and suitable locking arrangement and tank ISI : 12701 marked with cover and suitable locking arrangement and tank ISI : 12701 marked with cover and suitable locking arrangement and tank ISI : 12701 marked with cover and suitable locking arrangement and tank ISI : 12701 marked with cover and suitable locking arrangement and tank ISI : 12701 marked with cover and suitable locking arrangement and tank ISI : 12701 marked with cover and suitable locking arrangement and tank ISI : 12701 marked with cover and suitable locking arrangement and tank ISI : 12701 marked with cover and suitable locking arrangement and tank ISI : 12701 marked with cover and suitable locking arrangement and tank ISI : 12701 marked with cover and suitable locking arrangement and tank ISI : 12701 marked with cover and suitable locking arrangement and tank ISI : 12701 marked with cover and suitable locking arrangement and tank ISI : 12701 marked with cover areas ar	1000.00	per litre	8.80	8800.00
Providing at site, lowering a lowing mended up to date) and as per specifications pipes (SN 8) as per IS 15328 (amended up to date) and as per specifications with rubber rings with socket and spigot joint, (EPDM/SBR) for all depths for pipe with rubber rings with socket and specification including hydraulic field testing (including tength as per drawing and specification including hydraulic field testing (including tength as per drawing and specification including hydraulic field testing (including tength as per drawing and specification including hydraulic field testing (including tength as per drawing and specification including hydraulic field testing (including tength as per drawing and specification including hydraulic field testing (including tength as per drawing and specification including hydraulic field testing (including tength as per drawing and specification including hydraulic field testing (including tength as per drawing and specification including hydraulic field testing (including tength as per drawing and specification including hydraulic field testing (including tength as per drawing and specification including hydraulic field testing (including tength as per drawing and specification including hydraulic field testing (including tength as per drawing and specification including tength as per drawing and specification including testing testing (including tength as per drawing and specification including testing	15.00	metre	267.50	4012.50
antoly 110 mm Nominal Dia	30.00	metre	558.00	16740.00
	 bit of carse sand: 8 graded stone aggregate 40 mm nominal size). Random rubble masonry with hard stone in foundation and plinth Cement mortar 16 (1 cement: 6 coarse sand) Coursed rubble masonry (second sort) with hard stone in foundation & plinth with Cement mortar 1.6 (1 cement: 6 coarse sand) Extra for coursed rubble masonry with hard stone (first or second sort) in superstructure above plinth level and upto two stories Cement plastering including T&P, scaffolding, material and complete labpour, including cost of water, curing, racking of plinth set, with 20 mm cement plaster of mx 1.4 (1 cement: 4 finef coarse sand) P & F Marble Urinal Partition slab both sides polished of approved design cut from marble size 900x600mm. IS 2556 (Part VI Sec.4). 1995. Makrana 'Adanga' or Ra) Nagar ISI Quality White or Andhi Indi-Italian marble. Providing and fixing 1st quality standard white, grey, ivory, fume red brown, light green, light blue and other light shades glazed lies confirming to IS: 13753 & IS 15622 of size 200mm x 300mm in walls, floors, steps, pillars etc. laid on a bed of neat cement slury finished with flush pointing in the white cement mixed with pigment to match the shade of the tile complete (excluding the cost ofcement plaster on walls and pillar). Providing and fixing 1st quality MAT finished ceremic tile size 300x300mm confirming to IS: 13753 and IS: 15822 colour such as white, grey, ivory, fume red brown, light green, light blue and other light shades in floors, steps, pillars etc. laid on a bed of neat cement slury finished with flush pointing in the white cost of cement mortar bail 1.4). Providing and fixing white vitreous china pedestal type water closet (European tilder) out to leave level white P V.C. flushing cistern times and id. 10 in the low level white P V.C. Pany with asit flush gains in Size 630x450 mm with a pair of 15 mm C.P. brass pillar taps.32 mm C.P. brass waste of standard pattern, including painting of	Providing and laying in position cement concrete of specified grade excluding the cash of conting and shuttering - All work upto plinth level = 14.8 (1 Cement 4 in the Coarse sand) 1.00 Random rubble masonry with hard stone in foundation and plinth Cement mortar 16 (1 Cement 0.6 coarse sand) 0.81 Coursed rubble masonry (second sort) with hard stone in foundation & plinth with Cement mortar 1.6 (1 cement : 6 coarse sand) 0.81 Extra for coursed rubble masonry with hard stone (first or second sort) in superstructure above plinth level and upto two stores 90.92 Cement plastering including T&P, scaffolding, material and complete labpour, including coal of water, curing, racking of joints etc. with 20 mm cement plaster of mix 1.4 (1 commt : 4 fine Coarse sand) 90.92 P & F Marble Urinal Partition slab both sides polished of approved design cut from marble size 900x000mm in 2556 (Part VI) Sec 4)- 1995. Makrana 'Adanga' or Raj Nagar ISI Quality White or Andhi Indi-Italian marble. 90.92 Providing and fixing 1st quality standard white, grey, vory, fume red brown, light providing and fixing 1st quality standard white, grey, vory, fume red brown, light green, light bue and other light shades slaze of the tile complete (including the cost of cement mortarb tot 1.4 info (Sec) (Sec) (Sec) (Sec) (Sec) (Sec) (Sec) (Sec) (Sec) (Sec) of the adia and the shade of the tile complete (including the cost of cement mortarb tot 1.4 info (Sec) (Sec) (Sec) (Sec) (Sec) (Sec) (Sec) (Sec) (Sec) (Sec) (Sec) (Sec) of the walis and floors wherever required (Sec) (Sec) (Sec) (Sec) (Sec) (Sec) (Sec) (Sec) (Sec) (Sec) (Sec) (Sec) (Sec) (Sec) (Sec) (Sec) (Sec) (Sec) of the stas and the do (Sec) (Sec) (Sec) (Sec) (S	Trowling and laying in position cament concrete of specified grade excluding the last of conting and studening. All work upp pinth level: 14.8 (1 Cernent 4) 1.00 cum Random rubble masonry with hard stone in foundation and pinth Cernent mortar 16 (1 Cernent 6) coarse sand) 0.81 cum Caursed rubble masonry (second sort) with hard stone in foundation & pinth with 15 (11) cum 0.81 cum Caursed rubble masonry (second sort) with hard stone (first or second sort) in superstructure above pinth level and up to vos stories 15 11 cum Cernent motar 16 (1 cernent 4 for coarse sand) 90.92 sgm 90.92 sgm PA F Matbe Unal Partitions table both addes polished of approved design cut from matbe size 900x600mm. IS 2556 (Part V) Sec 4): 1095. Makrana 'Adanga' 2.00 each Providing and fixing 13t quality standard white, grey, loory, fume red brown, light green, light blue and other light shades glaced tiles confirming to IS. 13753 at IS 15622 of size 200mm x 300mm in walls. forst, steps, pillars et claid on a bed of neat cernent stury finished with fush pointing in the white cernent mixed with great with higherent to match the shade of the tile complete (recluding the walls and floors wherever require W). Chashing cistern with manually controlled device (handle lever), conforming to IS. 7231, with and floors wherever require W. VC, pan with SI marked wite solo pasis seat and toos derive with stand and floor greats where require W white automatic flushing and fixing white witerous china flat back or wall corner type lipped front unal basin of 320260x350mm	Providing and laying in position comment concrete of specified grade excluding the last of centring and shuttering. All work positions aggregate 07 mm normal area). 100 cum 4340 00 Random rubbin masonay with hard stone in foundation and plinth Cement motar 10 (1 cement : 0 coarse sand) 0.81 cum 4245 00 Coursed rubbie masonay with hard stone in foundation & plinth Cement motar 10 (1 cement : 0 coarse sand) 0.81 cum 4245 00 Coursed rubbie masonay with hard stone in foundation & plinth with Cement plasting including TAP, scaffolding, material and complete labpour, including cost of water, curing, racking of joints etc. with 20 mm cement plaster of mix : 14 (1 cement : 4 fard coarse sand) 90.92 sigm 283 50 P A F Markle Urnal Partition slab both sides polished di approved disging cut in markle biros fard biros sign and sign at at anality standard white, grey, lony, fume rate drown light green, light bia on other light shades glazed thes confirming to 15 : 1375 is 15822 of size 200mm x 300mm in walls, Booth sides informs to 15 : 1375 is 15822 of size 200mm x 300mm in walls, Booth sides informs to 15 : 1375 is 15822 of read the site on site of complete (excluding the cost of cement mixed with pigment to match the shade of the tile complete (including the cost of cement mixed with big birdhield in the bir policity in the white cement mixed with pigment to match the shade of the tile complete (including the cust of cement mixed with birdhield in the birdhield in the white can the mixed with pigment to match the shade of the tile complete (including the cust of cement mixed with pigment to match the shade of the tile complete (including the site and thirdhi

17.00 an e 18.00 P & 18.00 P & 19.00 P & 20.00 15 r 21.00 Stoi 22.00 Ce no no 22.00 Ce 23.00 Ea 24.00 D 25.00 P 25.00 P 26.00 P 27.00 S 28.00 P	Total	Say					
17.00 an e 18.00 P & 18.00 P & 19.00 P & 20.00 15 r 21.00 Ston 22.00 Ce 22.00 Ce 23.00 Ea an aff up 24.00 D 24.00 D 25.00 P IS ra 60 co 26.00 P 27.00 S 27.00 S	Providing and fixing 1mm thick M.S. sheet door with frame of 40x40x6mm angle iron and 3mm M.S. gusset plates at the junctions and corners, all necessary fittings complete, including applying a priming coat of approved steel primer. Using M.S. angels 40x40x6 mm for diagonal braces.	3.00	sqm	3695.00	11085.00 343044.8		
17.00 an e 18.00 P & 18.00 P & 19.00 P & 20.00 15 r 21.00 Stoin 21.00 Stoin 22.00 Cenon 22.00 Cenon 23.00 Ea an end D 24.00 D 25.00 P IS G 26.00 P end Ea and G 26.00 P end Ea and Ea an Ea	Supplying and fixing C.I. cover without frame for manholes : 35.8.1 455x610 mm rectangular C.I. cover (light duty) the weight of the cover to be not less than 23 kg.	2.00	each	1374.00	2748.00		
17.00 an e 18.00 P & 18.00 P & 19.00 P & 20.00 15 r 21.00 Stor 22.00 Ce con con 22.00 Ce con con 23.00 Ean aff pa 0 D 24.00 D arm m C 25.00 P ra ra ra <	Providing and laying in position cement concrete of specified grade excluding the cost of centring and shuttering - All work upto plinth level : 1:1½:3 (1 Cement : 1½ coarse sand : 3 graded stone aggregate 20 mm nominal size).	1.80	cum	5810.00	10458.00		
17.00 an e 18.00 P & 18.00 P & 19.00 P & 20.00 15 r 21.00 Stoi 90m 22.00 Cenois 22.00 Cenois 23.00 Ea 24.00 Da am am	Providing and laying lean cement concrete 114.8 in Sub-base over a prepared sub-grade with coarse and fine aggregate conforming to US: 383, the size of coarse aggregate not exceeding 25 mm, aggregate cement ratio not to exceed 15:1, aggregate gradation after blending to be as per table 600-1, cement content not to be less than 150 kg/ cum, optimum moisture content to be determined during trial length construction, concrete strength not to be less than 10 Mpa at 7 days, mixed in concrete mixer, laid manually, compacted with surface vibrator, finishing and curing complete as	1.80	cum	2775.00	4995.00		
17.00 an e 18.00 P & 18.00 P & 19.00 P & 20.00 15 r 21.00 Stoo 90n cen 22.00 Ce 23.00 Ea an aff up up na	Dismantling of existing structures like culverts, bridges, retaining walls, CC road and other structure comprising of masonry, cement concrete, wood work, steel work, including T&P and scaffolding wherever necessary, sorting the dismantled material, disposal of unserviceable material and stacking the serviceable material with all lifts and lead of 50 metres as directed by Engineer. Lime Concrete, cement concrete grade M-10 (1:5:10) and below	2.00	cum	365.00	730.00		
17.00 an e 18.00 P & 18.00 P & 19.00 P & 20.00 15 r 21.00 Stoo 90n cen 22.00 Cen 22.00 Cen 75 r	'5mm thick Earth work in excavation in foundation, trenches etc. including dressing of sides and ramming of bottoms, including getting out the excavated material, refilling after laying pipe/ foundation and disposal of surplus excavated material at a lead upto 50m suitable site as per direction of Engineer for following depths, below natural ground/ Road top level Depth upto 1.5 m	10.80	cum	210.50	2273.40		
17.00 an e 18.00 P & Was with 19.00 P & C.P 20.00 15 r 21.00 Stor 90n	Cement concrete flooring 1:2:4 (1 cement : 2 coarse sand : 4 graded 20mm cominal size stone aggregate) finished with a floating coat of neat cement including cement slurry, but excluding the cost of nosing of steps etc. complete. /5mm thick	11.01	sqm	721.00	7934.61		
17.00 an e 18.00 P & Was with 19.00 P & C.P	tone slab roofing on ground floor with fine grained stone slab Omm average thickness from approved quarry including filling of joints slab in ement sand mortar 1:4 with ceiling pointing in cement sand mortar 1:3 omplete as per specification for span: Above 2.00 metre and up to 2.50 metre	15.13	sqm	1225.00	18528.13		
17.00 an e 18.00 P & Was with	5 mm PTMT bib cock	5.00	each	95.00	470.00		
17.00 18.00 P & Was	& F Flush Cock/Flush Valve (IS:9758 Mark) or WC of approved quality make : P. brass Half-turn exposed 25 mm nominal bore.	2.00	Each	547.00	1094.00 475.00		
17 00	& F Inlet Connection (Angle Valves) Superior quality, of approved make, for ash basin, Gyser etc. C.P. Inlet connection 15 mm Brass (IS:8931 marked).	3.00	each	432.00	1296.00		
Daia	inting with synthetic enamel paint of approved brand and manufacture to give even shade : Two or more coats on new work	100.00	sqm	97.50	9750.0		
emb san scre bolts and	and fixing T-iron frames for doors, windows and ventilators of mild be Tee-sections, joints mitred and welded with 15x3 mm lugs 10cm long mbedded in cement concrete blocks 15x10x10 cm of 1:3:6 (1 cement : 3 coarse mod 6 graded stone aggregate 20 mm nominal size) or with wooden plugs and rews or with dash fastener or rawl plugs and screws or with fixing clips or with hits and nuts as require including fixing of necessary butt hinges and screws d applying a priming coat of approved steel primer.	100.00	kg	88.40	8840.0		

Terms and Condition :-

1. सभी प्रकार के कर (टैक्स) संवेदक द्वारा ही वहन किये जायेगें।

2. कार्य स्थल पर श्रमिक व सामग्री की सुरक्षा की जिम्मेवारी संवेदक की होगी। 3.जी.सारणी में वर्णित कार्यो के अतिरिक्त व अधिक कार्य संवेदक द्वारा दी गई दरों के आधार पर करवाये जा सकेंगे।

4.कार्य स्थल पर कार्य संम्बंधित सूचनाएं दर्शाने वाला बोर्ड संवेदक को स्वयं के स्तर पर लगाना होगा।

5.टंकण त्रुटी की अवस्था में सम्बन्धित रेट मान्य होगी।

6. कार्य करने से पुर्व एवं कार्य करने के पश्चात कार्य स्थल की फोटो/विडियोग्राफी सीडी आवश्यक रूप से कार्यालय में जमा कराने होंगें।

7. दोष निवारण अवधि नियमानुसार रहेगी ।

8. दरें 4 माह तक मान्य रहेगी

9 सशर्त निविदा स्वीकार नहीं होगी ।

EXECUTIVE ENGINEER

NAGAR NIGAM SOUTH JODHPUR.

I/We hereby agree to do the above work @ _____ Above/below the "G" Schedule.



OFFICE OF THE MUNICIPAL CORPORATION South, JODHPUR

G-SCHEDULE

NIT No. | 408 Date 09|3|2023Last Date of Sale :- 20|3|2023Date of Receipt :- 20|3|2023Copy issued to M/s

based on Ruidp bsr 2022

Name of work:- Construction, supply and fixing of acrylic boards at various places in nagar nigam jodhpur south

Sr. no	Item Discription	Quantity	Unit	Rate	Amount
1	Supply and fixing sign board upto 4.5 meter height made of the following specifications board base of A.C.P / transparent PVC acrylic sheet 3 mm thick fixed on MS hollow rectangular section size 50mmx25mm, letters made of acrylic material sheet 3 mm thick of any colour fixed with LED lights with all accessories and wiring with copper wire complete as required and as per direction in	ЗÖ	sqm	13250	397500
	engineer in charge.				
					3.98 lacs

Terms and Condition :-

1. सभी प्रकार के कर (टैक्स) संवेदक द्वारा ही वहन किये जायेगे।

2. कार्य स्थल पर श्रमिक व सामग्री की सुरक्षा की जिम्मेवारी संवेदक की होगी।

3.जी.सारणी में वर्णित कार्यों के अतिरिक्त व अधिक कार्य संवेदक द्वारा दी गई दरों के आधार पर करवाये जा सकेंगे।

4 कार्य स्थल पर कार्य सम्बंधित सूचनाएं दर्शाने वाला बोर्ड संवेदक को स्वयं के स्तर पर लगाना होगा।

5.टंकण त्रुटी की अवस्था में सम्बन्धित रेट मान्य होगी।

6. कार्य करने से पुर्व एवं कार्य करने के पश्चात कार्य स्थल की फोटो/विडियोग्राफी सीडी आवश्यक रूप से कार्यालय में जमा कराने होंगें।

7. दोष निवारण अवधि नियमानुसार रहेगी ।

8. दरें 4 माह तक मान्य रहेगी

9 सशर्त निविदा स्वीकार नहीं होगी ।

EXECUTIVE ENGINEER

NAGAR NIGAM SOUTH JODHPUR.

I/We hereby agree to do the above work @ _____ Above/below the "G" Schedule.

(Signature of Contractor)